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 BBYCT-133  

B.Sc. GENERAL (BSCG) 

Term-End Examination 

December, 2021 

 

BBYCT-133 : PLANT ECOLOGY AND TAXONOMY  

Time : 2 hours Maximum Marks : 50 

Note :  Attempt any five questions. Give neat and well 

labelled diagrams wherever necessary.  

 

1. Define any five of the following :   52=10 

(i) Synecology  

(ii) Ecosystem   

(iii) Lithosphere  

(iv) Autotrophs  

(v) Keystone species  

(vi) Black soil  

(vii) Meteoric water  

(viii) Net primary productivity  
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2. Make neat and well labelled diagrams of any 

two of the following :  25=10 

(i) Energy flow through different components of 

an ecosystem  

(ii) Tolerance range  

(iii) Biosphere  

(iv) Soil profile  

3. Write a detailed account of any one of the 

following :  10 

(i) With the help of a clear and well labelled 

diagram explain Water Cycle  

(ii) Adaptations in aquatic plants  

4. List the objectives of plant taxonomy. 

Differentiate between Alpha and Omega 

taxonomy. Discuss how cytological evidence can 

help in solving taxonomic problems.  10 

5. (a) Discuss the concept of taxa and give 

examples of the use of this term.  5 

(b) Describe the principles of binomial 

nomenclature.  5 

6. (a) Discuss salient features of a phylogenetic 

system of classification along with its 

merits and demerits.  5 

(b) Describe different types of clades used to 

construct a phylogenetic tree.  5 
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7. Write short notes on any four of the  

following :  42
2

1
=10 

(i) Plant Taxonomy in Ancient India  

(ii) Importance of Herbarium  

(iii) Flora  

(iv) Different Types of Taxonomic Keys  

(v) Typification  

(vi) Numerical Taxonomy  
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 ~r.~r.dmB©.gr.Q>r.-133  

~r.Eg gr. OZab (~r.Eg.gr.Or.) 

gÌm§V narjm 

{Xgå~a,  2021 

 

 

~r.~r.dmB©.gr.Q>r.-133 : nmXn nm[apñW{VH$s Ed§ d{J©H$s  

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & Ohm± Amdí`H$ hmo gm\$ 
VWm Zm_m§{H$V {MÌ ~ZmBE &    

 

1. {ZåZ{b{IV _| go {H$Ýht nm±M  H$s n[a^mfm Xr{OE :   52=10 

(i) g§nm[apñW{VH$s  

(ii) nm[aV§Ì 

(iii) {bWmoñ\$s`a (ñWb_§S>b)  

(iv) ñdnmofr  

(v) H$sñQ>moZ àOm{V`m±  

(vi) H$mbr {_Å>r  

(vii) _oQ>o`mo[aH$ dm°Q>a  

(viii) ZoQ> àmW{_H$ CËnmXH$Vm  
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2. {ZåZ{b{IV _| go {H$Ýht Xmo  Ho$ ñnï> VWm gwZm_m§{H$V {MÌ 

~ZmBE :  25=10 

(i) nm[apñW{VH$ V§Ì Ho$ {d{^Þ KQ>H$m| Ho$ _mÜ`_ go 
D$Om© H$m àdmh  

(ii) g{hîUwVm n[aga  

(iii) O¡d_§S>b  

(iv) {_Å>r H$s ê$naoIm  

3. {ZåZ{b{IV _| go {H$gr EH$  na {dñVma go MMm© H$s{OE : 10 

(i) ñnï> VWm gwZm_m§{H$V {MÌ H$s ghm`Vm go Ob MH«$ 
H$s ì`m»`m H$s{OE   

(ii) Obr` nm¡Ym| _| AZwHy$bZ  

4. nmXn d{J©H$s Ho$ CÔoí`m| H$s gyMr ~ZmBE & Eoë\$m Am¡a 
Amo_oJm d{J©H$s Ho$ ~rM AÝVa ñnï> H$s{OE & 
H$mo{eH$m{dkmZr gmú` {H$g àH$ma d{J©H$s` g_ñ`mAm| H$mo 
gwbPmZo _| ghm`Vm H$aVm h¡, Bg na MMm© H$s{OE &   10 

5. (H$) dJ©H$m| H$s g§H$ënZm H$s MMm© H$s{OE Am¡a Bg 
VH$ZrH$s eãX Ho$ Cn`moJ Ho$ CXmhaU Xr{OE &  5 

(I) {ÛnX-Zm_-nÕ{V Ho$ {gÕm§Vm| H$m dU©Z H$s{OE & 5 

6. (H$) Om{Vd¥Îmr` dJuH$aU nÕ{V H$s à_wI {deofVmAm| 
H$s CZHo$ bm^ Am¡a hm{Z`m| Ho$ gmW {ddoMZm 
H$s{OE &  5 

(I) EH$ Om{Vd¥Îmr` d¥j H$s aMZm _| Cn`moJ {H$E OmZo 
dmbo {d{^Þ àH$ma Ho$ ŠboS>m| H$m dU©Z H$s{OE &  5 
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7. {ZåZ{b{IV _| go {H$Ýht Mma  na g§{jßV {Q>ßn{U`m±  

H$s{OE : 42
2

1
=10 

(i) àmMrZ ^maV _| nmXn d{J©H$s  

(ii) h~}[a`_ H$m _hÎd  

(iii) dZñn{VOmV² g§J«h (âbmoam) 

(iv) {d{^Þ àH$ma H$s d{J©H$s` Hw§${O`m±  

(v) àê$nrH$aU  

(vi) gm§p»`H$s` d{J©H$s  

 

 


